N licitatie-publica.ro

Pachet materiale

I.D.: 64578829
Data 20.12.21 Coduri CPV 44100000-1
publicarii
Pretul 4,184,91 RON -4.184,91 RON
estimativ:
Descriere: Diluant = 8 buc 10,93 Manusi = 36 buc 4,62 Perie sarma = 3 buc 5,88 Patent = 2 buc 22,69

Sarma zincata 1,3 = 18 kg 8,4 Lacat = 10 buc 16,81 Pompa stropit = 1 buc 63,87
Conespand fil2x150 = 8 buc 4,62 Vopsea Casabella 0,75 = 70 buc 17,65 Diluant = 21 buc
10,08 Tavita trafalet = 5 buc 15,13 Set trafalet = 2 buc 16,81 Banda hartie = 1 buc 8,4
Vopsea alba 2,51 = 4 buc 57,14 Pensula = 2 buc 6,3 Gletiera = 1 buc 18,49 Spaclu = 1 buc
10,09 Cancioc = 1 buc 18,49 Ruleta 5m = 1 buc 15,97 Mufa fi25 = 2 buc 5,04 Lac 2,51 =2
buc 57,98 Pensula M40 = 3 buc 4,62 Roaba metalica = 1 buc 142,86 Surub M8x50 + piulita
cu saiba = 6 buc 1,26 Robinet 3/4 nrl = 1 buc 21,01 niplu 1/2 = 1 buc 4,2 Conectori = 2
buc 4,2 Surub M8x80 = 60 buc 0,84 Piulita M8 = 60 buc 0,168 Pensula M50 = 2 buc 4,62
Surub M6x30 = 10 buc 0,25 Piulita M6 = 10 buc 0,084 Saiba m6 = 10 buc 0,168 Saiba m6
grover = 10 buc 0,168 Surub M8x30 = 10 buc 0,34 Piulita M8 = 10 buc 0,168 Saiba G m8 =
10 buc 0,168 Butuc Yala = 2 buc 38,66 Robinet 2" =1 buc 121,85 Saiba M8 = 40 buc 0,168
Robinet 1/2 = 3 buc 16,81 Baterie pipa lunga = 1 buc 138,66 Racord monobloc 50cm = 2
buc 7,98 Broasca usa = 1 buc 21,01 Racord = 1 buc 11,77 Robinet 1/2 Nr.1 = 4 buc 16,81
Supapa sens = 2 buc 12,61 Mufa ocolire fi20 = 10 buc 1,68 Diblu L = 2 buc 4,2 Robinet Ds
1/2 = 2 buc 21,01 Teu Fi20 = 8 buc 0,84 Semiolandez Fi20 = 6 buc 7,56 Garnituri = 10 buc
0,168 Cot fi20 FI = 6 buc 4,2 T Redus 3/4-1/2-3/4 = 1 buc 4,62 Reductie 3/4-1/2 = 1 buc
3,36 Niplu 1/2 =1 bu



